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Lies = = Y p(v) Y plc|v) log, p(c|v)




9 9 5 5

I=——1log,— — —log, — = 0.940 bi
1198 1 T11°% 1 0.940 bits




2 2
I(red) = —glog2 g - glog2 5= 0.971 bits

I(green) = —glog2 % - glog2 g = 0.971 bits

4 4 0 0 .
= —Zlogz Z - Zlogz Z = 0.0 bits

I(red) = 0.971 bits

5
(yellow) =
pyeow_ﬁ

I(green) = 0.971 bits
I(yellow) = 0.0 bits

I,.5(Color) = Zp(v)[(’u) = 15—40.971 + 15—40.971 + 14—40.0 = 0.694 bits




I(red) = 0.971 bits

o I(green) = 0.971 bits
L[]
I(yellow) = 0.0 bits

Gain(Color) = I — I,.(Color) = 0.940 — 0.694 = 0.246 bits
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Gain(A)
I(4)

GainRatio(A) =




n
1] I(4) = =Y p(v) log,(p(v))

5 5 5 5 4 4
I(Color) = ——1og, — — 2 log, - — —log, — = 1.58 b
(Color) o g Tl g ot g 58 bits

Gain(Color)  0.940 — 0.694

GainRatio(Color) = T(Color) 158

= 0.156




Gini = 3 p(i)p())
7]

Gini(A) = p(v) Y _ p(ilv)p(jlv)

i#]




5
(yellow) =
plyellow) = -

Ll ]
L
Gini(A) = > p) > pli[v)p(jlv)

i#j

LI BN SR VLI
5 714744

Gini(Color) = 15—4 X

3 2 5 2 3 4 4 0
+ﬁx(ZxZ)_0'171

Gini(Color) = 15—4x (5 X 5) + 3% (gx 3)

GiniGain(Color) = 0.230 — 0.171 = 0.058







g ratio
0.156
0.152
0.049

Color green:
| Outline dashed: triange (100.0%)
| Outline solid: square (100.0%)
Color yellow: square (100.0%)
Color red:
| Dot no: square (100.0%)

Dot yes: triange (100.0%)

With contingency vector:

Color (<5, 9>) green:

| Outline (<3, 2>) dashed: triange (<3, 0>)
| Outline (<3, 2>) solid: square (<0, 2>)
Color (<5, 9>) yellow: square (<0, 4>)

Color (<5, 9>) red:

| Dot (<2, 3>) no: square (<0, 3>)

| Dot (<2, 3>) yes: triange (<2, 0>)




square
100.0%

solid
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Test—set error low (0.00) medium

) high (100.00)




